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(Simple Present) eslw Jl> 0lsj -

ool Jbs ooy il 3)b
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o b By y 5l 8,815 axd Sies wil lo (o By Y5l 8,51 i a5y a aS )

. [ go to school every day.

« [understand your words.

« She studies a book every night.
. We eat Omlet every week.

« They come here every day.

h Exercse 1:

. He always comes late.

. They always go mountain climbing.

. She often works at the weekend.

. it's often difficult to translate poetry.
. This type of accident often happens.

. often go to his house.

.Tusually wear black shirt.
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. He plays tennis occasionally.

. Women usually live longer than men.

D 0 03930l 8 By ] 5T s asl

+[09) P O30 02 j9) 4B (0
-og8 50 9) Loy (5l LBy> po
<335 (50 oo DS Sy iy gl
P90 Cilol s b Lo

23T o0 il o0 gy s LgsT

Arled dea i1y 3 dles

S pale 1)l ol DYl pal> slosal, m

0O o o oo o o oo oo o g

O o o o



O o o o o o oo o 0o o g g

O o o o

Basic Macro structures :led..a_é ]

( Simple Past tense ) esbw azsdS olsj - ¥

ro0lw a2 38 oy yxd b 3 )b
(J=d 293 Crownd) 8 aisdS 4

« She moved to New York last month. L8y (S)g0 gu b i3S olo gl
« They didn't buy a new TV last week. L3530 32 (9ol Sy e AS ovas lgiT

Where did you go on vacation last? . o
$ 3418 12S oL AS Jw Slghss

« year

« The old man was sick. He had to go to FISS Ul 39459120 gl 39y s Spop
the doctor. Sop
h Exercise 2: darlod des 31y (3 Sl

1. Last year I couldn't speak English well, but now I can.

2. We invited them to our party but they decided not to come.

3. She passed her examination because she studied very hard.

4. Charles entered the hall, looked around, took off his coat and put it on a chair.
5. They weren't able to come because they were so busy.

6. Nobody knew about end of his life.



(Present Continuous Tense) sl ozl Jb> 0l - ¥

&slyatesl Jl>lis s

Jel& + (am/is/ are) + Gerund

Gerund =I5 ing J=8
-1 dslal joa 45 39y 0 )15 () el ol sl )lyeil b ol

» ['am listening to the radio now.

« Mehri is coming from high school.

« She is going to hospital.

» we are explaining the lesson for him.

« [ am eating now.

h Exercise 3:

1.Tam driving in my car.
2.1am walking in street.
3. T'am talking with you.
4. She is reading a book.
5. They are thinking about it.

6. You are learning English .
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He keeps He is kept
osbw Jbo _ . P
31y 50 685 gl 394 50 (5515855 9l jl
He is keeping He is being kept
Gyeiwl Jo <. s < ;
3l 50 635 35l gl gl (50 (515855 31> gl jl
» He kept He was kept
o5Lw oL AS = =
Sl 635 gl jl aui (515855

I FNAANS

He was keeping
Cudbls 5o 085 Cubls

He was being kept
N GJIAQSJ cubls gl jl

P He has kept He has been kept
e Cuowl oLl 655 Cawl 038 (515855
S b iS He had kept He had been kept
o ezl g oibls 655 Sgu 030 (51555 gl jI
o He will keep He will be kept
o Cubls salgs 055 Sl dalg> (515655 gl
o He may keep He may be kept
o0
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He sees He is seen
oslw b . -
S 50 9l Sgun0 03 gl
He is seeing He is being seen
Sobaiwl Jo S 0 I gl g0 0305 315 gl
He saw He was seen
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S0 gl Sulb 630 gl

Gl 0h 3

He was seeing

Soda0 Cudls gl

He was being seen

Ao 0305 bl gl

He has seen He has been seen
o Jo Cowl oy gl Cuwl 030l 030 gl
He had seen He had been seen
JolS o 33 N
3gs 630 gl g 030l 050 gl
He will see He will be seen
e . o o
- S dalgs gl S SalgS 6500 gl
B He may see He may be seen
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e ke
I speak English every day. (0SS oo o Ll o) 4 (0
I repaired the car. oS oz | il (40

.3y8 WS U Gl oy plexil a5 Los L)l (59, 0lgs o0 Passive JSi 5l oolaiwl b @
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English is spoken here. 3gu 50 6ES 1yt il s udSSl Lj oo
The car was repaired. <3l pa0m3 95395 ¢l

9l Jeld '3 & (g yits e 3l odis plooil Jos caS cownlPassive pys Lolop) S
dguined SO JelB L o comas dlan (slanl o Jeld ) S3 as g3lo aS cawl gas jo cownl
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My proposal was approved by oBuils hungy oS aids oo Jlissgp
university last week. 3l Cugual

The car was damaged by a truck. 30wl (9208 Sy hungi 9395 ¢l

The shirts had been made in Turkey. 233397 030 05 L 0S5 55 L ey T

The forest was destroyed with fire. L3l sy T gy JSao
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Amusing 033 Sy | Amused S
Annoying 1912y | Annoyed 03423
Astonishing S5l eps | Astonished Jamio
Challenging o339l Uiz | Challenged 03ub 03,08 il oy
Confusing o>uS 2 | Confused o @S
Convincing osuis 256 | Convinced o5 Mcliio
Depressing oS o5,msl | Depressed 038l
Discouraging oS sl | Discouraged Syl
Disgusting 3Ssleas | Disgusted ybiio
Distressing 9l kil | Distressed wyhiao
Disturbing oS esait | Disturbed INT)
Embarrassing 91 ppis | Embarrassed oMoy
Encouraging o5iS p,S)s | Encouraged oS
Entertaining oS pSyw | Entertained S
Exciting 9l ulus | Excited 055yl
Exhausting oS oiws | Exhausted o
Frightening Sty | Frightened IS
Frustrating oS 30l s | Frustrated 0l G
Inspiring Ui plll | Inspired 0.3 plgll
Interesting 0348 sio 63Uc | Interested o 08Ue
Pleasing sulings | Pleased (o)) Sgidbs
Relaxing Ui UinolT | Relaxed obT
Relievingt oxuns ouSuws | Relieved T
Satisfying Ui ouls) | Satisfied o)
Shocking 9T w2 | Shocked o5 6S g
Surprising juS5l ewsS | Surprised 0.5 cudSud
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Gerund + Noun

el cio + vl
055 wiy] gte 53 (6915 0yl s Lo ol wiS e Bo s L 55 ol da 5 0955 4y
Developing 05U tswgs
Moving 03 Sy
Developing countries (630 b2umgy) dwgi Yoy (5ldyguisS
Detecting s <l se S
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Moving Arm (Jglcyio - ouidylgzuac ¢ygoil) (63115048, >) Sy =io 5oL
Immunizing Agent (093 (50 AD-AF sinylg 2 aac y90j1) (635 Luus o) jluw il Jole
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. attenuating factors

. relaxing sounds

. challenging conditions of life

. the incoming virus

. strength-training program

. enduring attributes

. bleeding stomach

. warning symptoms
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. pain-relieving

10. life threatening
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Past particple + Noun

(Jgrio Cduo + pal)
Developed countries 038l g (5le)guiS
Gathered information o3 591gaz ileUbl
Interrupted breathing o Jiho udis
Untreated apnea ol ¢ylogs Luds LS5
Educated people 0358 Jwazi p3y0
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. deceased person
. unknown diseases
. prescribed drug
. experienced person
. repeated question
. trained monkey
. infected patients

. localized infection
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. swallowed food

=
o

. infected individual

=
[y

. vaccinated person

=
N

. weakened microorganism

=
w

. unexpected charges

=
~

. required equipment

=
Ul

. sealed containers

=
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. decayed teeth
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one of the first people i met was joe frieda. i first met joe standing in a
line at bookstore. i was having a difficult time finding the books for the
english classes i was taking my first semester here. he not only helped me
find my books, but he also gave me some good advice on where to get
tutorial help on campus and where i could find some good restaurants.
we,ve become better friends since then and he has been so helpful in
answering any questions i have about going to school in the u.s and about
american culture. if hadn,t met joe that day. i might still be looking for
the right books for my classes!
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A Passage 1

Another critical factor that plays a part in susceptibility to colds is age. A study
done in the University of Michigan, School of Public Health, revealed particulars
that seem to hold true for the general population. Infants are the most cold-ridden

group, averaging more than six colds in their first year. Boys have more colds than



girls up to age three. After the age three, girls are more susceptible than boys, and
teenage girls average three colds a year to boy's two.

The general incidence of cold continues to decline into maturity. Elderly people
who are in good health have as few as one or two colds annually. One exception
is found among people in their twenties, especially women, who show a rise in
cold infections, because people in this age group are most likely to have young
children. Adults who delay having children until their thirties and forties experience
the same sudden increase in colds.
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Question: The writer in this passage, .......ccceu..
a) is highly critical of the issue b) is unaware of the topic
c) considers his personal views d) tries to remain objective
Whole passage tries to remain objective
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A Reading Comprehension

passage 1

Developments in nanotechnology have enormous potentials to
revolutionize drug delivery system. The overall aim is to allow drugs to be
delivered to the areas within the body which they are targeting. The active
ingredients of the drugs are placed inside a wrapper that is genetically
designed to locate a particular part of the body. The wrapper is attracted to
the cell receptors of the relevant area and attaches to it, discharging its active
ingredients. Early results are very impressive. Delivering anti-cancer drugs to
the brain has been a major problem due to the blood-brain barrier. However,
anti-cancer drugs bound to nanomaterials successfully cross the blood-brain
barrier and release the drugs at therapeutic concentrations in the brain.

1- In this paragraph, the “drug delivery systems” refers to ..........c..c.....

a. distributing the required drugs among the sick appropriately

b. providing the diseased part of the body with drugs

c. the best ways for the patients to obtain and take drugs

d. the new technologies of manufacturing and distributing drugs

2- In the technology described, the ................... made so that it/they can
detect the target part.

a.wrapperis  b.ingredients are c. cell receptors are  d. body is



3- What does underlined “they” (line 3) refer to?

a. delivery systems  b. body areas c. developments  d. drugs

4- In this text, delivering anti-cancer drugs to the brain is an example of.......
a. the problem that blood-brain barrier creates

b. a common therapeutic method to combat brain cancer

c. successful use of nanotechnology

d. a common problem of brain cancer patients

5- The author’s attitude toward the future of drug delivery system is.........

a. adverse b. unsupportive c. optimistic d. critical

Passage 2:

Since World War I, it has been recognized that some patients with non-
thoracic injuries sepsis, and the like conditions develop respiratory distress,
diffuse lung infiltrates, and respiratory failure, sometimes after a delay of
hours to days. Ashbaugh described such patients in 1967, using the term
“adult respiratory distress syndrome”. Later on, the term “acute respiratory
distress syndrome” (ARDS) was used instead of “adult respiratory distress
syndrome” because the syndrome occurs in both adults and children.

ARDS is serious, sometimes life-threatening, and get worse quickly. But
it’s generally treatable and most people can recover from it. Fast diagnosis
and treatment are important. In this disease, fluid leaks from small blood
vessels and accumulates in the tiny air sacs in your lungs. Your lungs are then
unable to fill up with enough air. Because of this, the blood traveling to your
lungs can’t pick up the amount of oxygen it needs to carry to the rest of your
body. That can lead to organs such as your kidneys or brain not working as
they should or shutting down. Doctors are still trying to learn more about this
condition and why it happens. It’s not always clear what triggers a case.

6- Those who develop respiratory related conditions such as respiratory
distress have ......

a. been recognized to suffer from sepsis for some time

b. been suffering from thoracic injuries for a couple of days

c. taken part in World War I

d. already diffused lung infiltrates
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7- The term “adult respiratory distress syndrome” was introduced.............
a. to include everybody having the syndrome

b. around the mid-20th century

c. long after that of ARDS

d. to substitute acute respiratory distress syndrome

8- Although ARDS is a serious condition, it ............
a. is life-threatening b. may not aggravate over time
c. is likely to be cured d. is not a diagnosable disease

9- Those suffering from ARDS may be inflicted with renal failure because

a. the brain may malfunction
b. the lungs absorb all the air
c. blood vessels carry oxygen to the lungs

d. kidneys receive insufficient oxygen

10- The passage concludes that the underlying cause of ARDS is.............
a. still a mystery b. a respiratory failure

c. easily detectable d. highly preventable

Passage 3:

‘We all know that there are different degrees of intelligence, but it is perhaps
less understood that the way we think about intelligence may be influenced
by the society we live in, and that even within one society, standards and
norms can change over time. For example, since the rise of a scientific culture,
the intelligence of the scientists has been greatly valued. Therefore, scientists
and theoreticians like Einstein and Hawking have been considered the “most
intelligent’.

Recent research on intelligence is leading toward its redefinition.
Today, it is recognized that people have different kinds of intelligence
and that the ability to think scientifically (i.e. the capacity to use logical
deduction and factual evidence to solve problems) is just one kind. For
example, the ability to create things of beauty such as painting or a musical
composition demonstrates artistic intelligence. Political and social leaders
have interpersonal intelligence, the talent to understand and manage other



people. The ability to organize facts into a clear argument, master languages,
and create stories about imaginary people and situations are considered as
separate aspects of intelligence. Therefore, the average person has different
but “normal” amounts of each type of intelligence, while a genius is a person
with an outstanding brilliance in at least one kind of intelligence.

11- The main idea of this passage is .............

a. scientists are more intelligent than others

b. all artists are intelligent people

c. intelligence exists in different forms

d. geniuses are intelligent in many ways

12- Based on the recent research on intelligence, the author ............ the .
idea that scientists are the most intelligent people. j

a. provides evidence for b. partly advocates A“-’
c. confirms d. challenges }’
13- A person with interpersonal intelligence is competent in ............ j«
a. mastering several languages b. administrative affairs 33
c. organizing facts into arguments d. writing imaginary stories 4
X

14- As stated, a genius is someone who ............. JB

a. is exceptionally talented in at least one area
b. studies mathematics and scientific subjects
¢. can paint pictures and compose music

d. talks brilliantly about many subjects

15- In case Einstein and hawking were living today, they would .......
a. be considered outstanding in different types of intelligence

b. redefine the concept of intelligence

c. be referred to as geniuses in each type of intelligence

d) be considered a genius in their own field of specialty
Passage 4:

Not too long ago, deadly infections were feared in the Western world.

Since that time, many countries have undergone a transformation from
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disease cesspools to much safer, healthier habitats. Starting in the mid 1800s,
there was a steady drop in deaths from all infectious diseases, decreasing to
relatively minor levels by the early 1900s. The history of that transformation
involves famine, poverty, filth, lost cures, eugenicist doctrine, individual
freedoms versus state power, protests and arrests over vaccine refusal, and
much more. Today, we are told that medical interventions have increased our
lifespan and single-handedly prevented masses of deaths. But is this really true?
Dissolving Illusions details facts and figures from long- overlooked medical
journals, books, newspapers, and other sources. Using myth-shocking graphs,
this book shows that vaccines, antibiotics, and other medical interventions are
not responsible for the increase in lifespan and the decline in mortality from
infectious diseases. If the medical profession could systematically misinterpret
and ignore key historical information, the question must be asked, “What else
is ignored and misinterpreted today?” Perhaps the best reason to know our
history is so that the worst parts are never repeated.

16- According to the passage, deadly infections steadily...............

a. diminished  b. elevated c. stabilized d. fluctuated

17- The mid-1800s ............ the risk posed by infectious diseases.

a. shows a sharp rise in b. indicates no signs of

C. puts an end to d. marks a decline in

18- The book “Dissolving lllusions” intends to ............ facts and figures in

long-unattended medical sources.
a. ignore b. bring under attention

c. devalue d. distract us from

19- The writer indirectly recommends a reasonable review of the past

events to ............
a. prevent future mistakes b. write science history
c. extend historical information d. interpret medical profession

20- The underlined “that” (line 5) refers to transformation from a deadly
environment to ...............

a. rise in illness b. filthy habitat

c. safer setting d. absolute poverty



A Vocahulary Questions

21- Most of the developments in medical fields started with the ............
of the digital systems.

a. intent b. advent . resumption d. termination

22- Before using a device or taking a drug, reading the ............. carefully is
necessary.

a. provisions | b. supplements | c. intentions d. instructions

23- It is essential to find a well-suited organ for transplantation as the body
has a predisposed ............ to reject mismatched organs.

a.tendency | b.impotence |c.intimacy d. tolerance

24- The patient received a tetanus vaccine to prevent muscle spasm soon
after he............ his knee in a soccer game.

a. sustained | b. strengthened | c. sprained d. stabilized

25- The patient had to undergo open heart surgery to remove the blood clot
having ........ his coronary artery.

a. suspected | b. inspected c. contested d. obstructed

26- Clinical ............ are usually sufficient for physicians to diagnose the
patient’s problem.

a. manifestations | b. outbreaks |c. tendencies d. remedies

27- The scientist gave an influential lecture about cancer and was able to
............ powerful emotions from her audience.

a. evolve b. resolve c. evoke d. revolve

28- The psychologists prescribed a medicine to rapidly........ his distress
and anxiety.

a. appreciate b. achieve c. amplify d. alleviate

29- If your emotions............. your wisdom, you cannot judge reasonably and
may decide incorrectly.

a. outnumber b. outweigh | c. enhance d. elaborate

30- In specific climates, the floods......... almost as quickly as they arise, they
rapidly go back to the normal state.

a. subside | b. commence C. survive d. emerge
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31- Undoubtedly, without the ............ supply of fresh and oxygenated
blood, the human brain will not function properly.

a. steady b. scarce c. scanty d. queer
32- During the operation, the heart must get ............ to allow the surgeon
to fix the defects.

a. hesitant b. motionless c. restless d. vibrant

33- As flies feed .............. , they create a sense of non-cleanliness.

a. Feasibly b. filthily c. fatally d. frankly

34- Students in medical fields are expected to be ............ participants in
the process of learning.

a. diligent b. monotonous | c. miserable d. fragile

35- Dressing materials ............ drainage but will not adhere to the wound
when removed.

a. Saturate b. contain c. discharge d. absorb

36- My friend has had a backache for a long time; the doctor prescribed
............ exercise for his weak back.

a. degenerating | b. remedial c. disappointing d. malformed

37- A famous football player was trying to raise money for flood victims

and asked his teammates to ........ too.
a. retain b. correlate c. contribute d. resolve
38- Plastic materials ............ dangerous chemicals and produce poisons

when they burn.

a. evade b. eliminate C. consume d. release

39- People who are proved to be............ unhealthy, when committing a
crime, may not be considered criminally responsible.

a. mentally b. intentionally | c. cautiously d. individually
40- As the fever ............... for two weeks, the patient was hospitalized.
a. insisted b. consisted c. persisted d. assisted
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A Reading Comprehension

Passage 1

Psychologist George Spilich decided to find out whether, as many smokers
say, smoking helps them to think and concentrate. He put non-smokers, active
smokers and smokers deprived of cigarettes through a series of tests. In the
first test, each subject sat before a computer screen and pressed a key as soon
as he or she recognized a target letter. In this simple test, smokers, deprived
smokers and non-smokers performed equally well. The next test was more
complex. Non-smokers were faster, but under the stimulation of nicotine,
active smokers were faster than deprived smokers. In the third test of short-
term memory, non-smokers made the fewest errors, but deprived smokers
committed fewer errors than active smokers. In the fourth test, nonsmokers
were the best, and deprived smokers performed better than those who had
smoked a cigarette just before testing. As the tests became more complex,
non-smokers performed better than smokers by wider and wider margins.

1- It is mentioned in the passage that the purpose of George Spilich’s
experiments was to ...............
a. test the positive effect of smoking on thought and concentration

b. show how smoking damages people’s ability to concentrate
c. prove that smoking affects people’s regular performance

d. show that non-smokers are less productive at work than smokers



2- We understand from the passage that ......... .

a. deprived smokers in general did not perform better than active smokers
b. active smokers responded more quickly than the other subjects in all tests
c. non-smokers were not better than other subjects in the first simple test

d. deprived smokers gave the slowest responses to the various tasks

3- George Spilich conducted the experiment to ............ .

a. check the effectiveness of nicotine on nonsmokers
b. test the subjects’ concentration under different tests
c. help the subjects finish the tests quickly

d. make the subjects recall the words

4- The researcher in this study was actually testing what ................ .

a. the public believes about smoking

b. the subjects needed to stop smoking

c. smokers thought about positive smoking effects
d. previous studies on smoking had suggested

5- In three of the four tests .............. performed better than other
participants.

a. deprived smokers b. active smokers
c. passive smokers d. non-smokers
Passage 2

It is clear that learning methods have evolved with technology over the
years ,and most teachings have left the four walls of the classroom .Some
still haven'‘t ;but fortunately ,language learning has .There are many reasons
that make it necessary to use technology in this field ,one of which is the
difficulty of learning a new language .It is a special skill because the process of
picking up a new language requires the brain to construct brand new linguistic
structures ;a difficult but achievable task .This is another fitting situation for
the application of technology .Rather than being forced to comprehend at
the speed of classmates ,mobile applications and tutorial videos for language
learning help students learn whenever they like ,at their own pace .They
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are also useful in cases where one needs to learn how to communicate in
specific situations ,such as a vacation or business trip .In a traditional learning
structure ,it isn‘t always easy to track daily progress .However ,students
learning with mobile applications can track their daily progress ,and may even
get suggestions on how and where to improve ,depending on the application.
With the improvements made by technology in language learning ,it is clearly

now an easier target.

6- What does the author mean by “teachings have left the four walls of a

classroom"?
a. Home schooling is available for most students.

b. Traditional methods of teaching are coming back.
c. Teachings are moving out of traditional classes.

d. Teachings now hardly depend on technology.

7- Learning a new language is so difficult since it........... .

a. is a time-consuming and boring activity
b. is very costly for almost every learner
c. requires both intelligence and advanced technology

d. requires the brain to build new linguistic structures

8- The passage has included all of the following choices as ways in which
technology facilitates language teaching EXCEPT .......

a. helping students learn at their own speed

b. developing quizzes and tests

c. tracking learners’ daily progress

d. suggesting how and where to improve

9- The author’s attitude towards technology-based language teaching and
learning seems to be .............. .

a. promising b. disappointing C. pessimistic d. suspicious

10- The writer of the passage concludes that technology has made
language learning an ............ goal.

a. advanced b. achievable c. insignificant d. improper



Passage 3

Nine out of ten people breathe polluted air every day. In 2019, air
pollution was considered by WHO as the greatest environmental risk to
health. Microscopic pollutants in the air can penetrate respiratory and
circulatory systems, damaging the lungs, heart and brain, killing 7 million
people prematurely every year from diseases such as cancer, stroke, heart and
lung disease. Around %90 of these deaths are in low- and middle-income
countries, with high volumes of emissions from industry, transport and
agriculture, as well as dirty cook stoves and fuels in homes. The primary cause
of air pollution (burning fossil fuels) is also a major contributor to climate
change, which impacts people’s health in different ways. Between 2030 and
2050, climate change is expected to cause 250,000 additional deaths per year,
due to malnutrition, malaria, diarrhoea and heat stress.

11- In this passage, WHO ............. in 2019.
a. highlighted the importance of air pollution
b. listed the names of all areas polluted

c. eliminated the problem of pollution

d. listed all the risks of air pollution

12- According to the passage, organs like lungs, heart and brain ..............
microscopic pollutants when the polluted air is inhaled.

a. are resistant against
b. are directly exposed to
¢. would stand away from

d. would get along with

13- According to the passage, there is a/an .................... relationship
between air pollution and the number of related deaths.

a. negative b. unclear c. unpredictable d. direct

14- The negative effect of climate change on people’s health is ..................
air pollution.

a. different from that of b. identical to that of

c. beneficial unlike d. superficial unlike
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15- Problems like malnutrition, malaria, diarrhoea and heat stress are

............ of climate change.

a. among the causes b. independent

C. consequences d. future sources
Passage 4

The cloning of genes has made many medical advances possible. Human
growth hormone (HGH) is a good example. This hormone stimulates the
growth of bones and muscles during childhood. Cloning the gene for HGH
has provided an increase in the availability of the hormone. However, the
availability of HGH and other products of biotechnology raises an ethical
question. The hormone is used widely to treat children with dwarfism, a
condition that results in an adult height of 4 feet and 10 inches or shorter.
Should HGH be available to anyone who wants taller children or only those
who have children with dwarfism? Suppose parents want their average-size
son to be taller so he will have a better chance of making his high school team.
Doctors do not have any evidence that exposure to HGH affects average-size
children negatively, but many feel it is unethical to provide it to children with
no serious medical need.

16- The writer states that cloning the gene for HGH is.................

a. quite detrimental b. categorically beneficial

c. abnormally problematic d. ethically controversial

17- The author of this reading selection seems to .................

a. sympathize with children suffering from dwarfism
b. consider gene cloning unethical in all cases
c. condemn parents with average-size children

d. disregard new developments in medical sciences

18- It is implied that regarding height, average-size children ...............

a. are negatively affected by HGH
b. are without serious medical need

c. can be very fit for high school teams

d. mostly participate in high school teams
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